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Fertility differential

- TANZANIA 2015

Age Structures of the Poarest_and Richest Quintiles
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Demographics and economic
perspectives

1 Socletal needs are met based on the stock of durable assets

1 Assets have lifespan

1 Assume all assets have a lifespan of 50 years, annual replacement of
100/50= 2% of assets to maintain quality of services

1 At 1% population growth rate, expand durable assets by 1% to
maintain quality of services.

1 At 1% population growth rate, expand durable assets by 3%( 1% for
expansion+ 2% replacement) = 50% above a stable population.
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Demographics and economic
perspectives

In stationary

Assuming lifespan of :
population annual

infrastructureis 50

years replacementis 25 Tf




Demographics and security implications

Age-structural Change from 2015 to 2035
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Cincotta, 2015 (updated) Data: UN Population Div., 2019






Demographics and health implications




The Way Forward

U Advocacy for our governments and pollical leaders that reproductive health policy and

programs Is a security policy, health policy, educational policy, food security policy,
employment policy and environmental policy (Central Cost Saving Intervention)

U Considerthe production of contraceptive in the Sub




Conclusion

1 The argument that high population growth is an asset completely ignores the costs of the not-
yet-added who currently produce nothing and pay no tax but require substantial current
expenditure

Reducing population growth will reduce the component of infrastructure attributable to capacity
expansion and thus focus more on replacement and modernizing items whose technology are
obsolete which leads to improvement of services and well being

Reducing population growth will increase the median age and the burden posed by violent
extremism

Reducing child marriage , teen pregnancies and meeting the unmet need for family planning will
bridge the fertility differential , reduce related mortality and morbidities, reduce population
growth rate and improve health of citizens.
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